#AEE 2 5 (5 5 ZRBIFR)

| BEIES | iE4-144)

fa4 « AKL - SERORE RS
REMIRY KR

E T 0 5 Pk 30 #E - ELHE 11 5 | L F %5 +K
R LHESOLH | WX A B K T
R THELEOLET | M)l A

ok 30 4E 12 A 21 H _ opk 31 £ 1 A 8 H 2B

i i 1
A KLoB B - 10 00 4 BooAT W . B 31 4E 3 A 15 H ET
AN KL B BT BNEERFT M T E AR CH R B OB | ¥ k3141 A T7H
N3 1>
b f Lf,ji %«zﬁﬁx ﬁ%}; 4,406,400 [ 5% 3 % B | 326,400 [T
¥ E M K | 4,525,200 [ 2B 1H & BB | 335,200 M
e K OBR B | 3,990,600 H 2B VH & Bl A | 295,600 M

= Yadanl Iy

ig e = A = G 7/ N K T X
REOMFET | B I ER -5
A REM 5 R &
T oo 7 B o | TR

FR30FE12H4HEA T ERERO LB E
D)8 ETOT R TCOEMITE L TIHEDOHIPLIERETDHHLDET D,

84 BB O (1) BIHNICARIEEE L TWADE,
A AL & B K

(2) EAR—ALFELHFELTNDIL,
(3) AN TFOFERES T NCHERTHHIE,

e el 7 A3

F oL ELE | TR

wfL B W | TEMARORLE N TRAKHIFRAMRE L L O S AR RN A (S ALIRE TS
INE]| 219 RE]|

FH O 5 XA e [P e ARLedE B ] ARG [P v T8 22
1| B&ET+TIHE 4,130,000/ % 55| s

2 | FRH 4,160,000 s %% |

3 | WHIHENE— =R 4,110,000/ s 5|

4 | KT 4,109,000/ s s |

5 | WHRIESF 4,080,000 | s s s | AL
6 | EHIE 4,110,000/ s s s | s

7| BB AKLEEIE | | wxx

8 | (H) A PR AKLEEIE | | wx

9 | (HREAREZE AKLEEIE | s

10 BHIZE AKLEEIR | k| sn

11| MR AKLEEIE | s

12

13

14

15




(BlIAR)

| BEIES | fE4-144)
T30 FE | W 4 | AKHWR AR TN RVER - ok
o L F &
D 4 PR | g R B K B T
oL OF %
D % AT |01 i N
FEE L=52. 5m
27 ) — ML (PCHBL. [J200X6,0000 L=52. 5m
[ D
7 B 3




